FgArea: [0 ]
NC11 P3-7
2025-04-28 (Day 30)




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-7_0
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P3-7

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R
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21t 2106.0 (97%) 1350.0 3203 KEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (549), set to 450.0 ml.
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P3-7
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15:20 210 150.0 5| {Ri%e15:20 F3h (RAERSE)
21t 2100.0 (10%) 1500. 0 EWHKEC: 2080.0, PH: 6.5

RE R B RECHIR TR K.
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21+ 1890.0 (9)%) 1350.0 32 UHKEC: 2080.0, PH: 6.5
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P3-7

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

06:55 210 150.0 | =| 1BRi&e06:55 Fzh (KREERSE)
07:55 210 150.0 E 1BRi&e07:55 Fzh (GRAEREE)
08:55 210 150. 0 F  1BRi%e08:55 F a1 (RAERE)
09:55 210 150.0 5| {Ri%@09:55 F 3 (FAERHSE)
10:55 210 150.0 = {RRiB@10:55 Fzh (RFAKEEE)
11:50 210 150.0 =l RRiB011:50 Fzh (REAEEEE)
13:20 210 150.0 5 {Ri%e13:20 F3h (RAMEHSE)
14:30 210 150.0 = RRiB0@14:30 Fzh (RFAKEEE)
15:50 210 150.0 = RRiB015:50 Fzh (REAEEE)
21t 1890.0 (97%) 1350.0 3203 KEC: 2080.0, PH: 6.5

REX 1 B AR ECHIE R Kk
REXR BB HEREC/PHEER K, 7T

VNN =A
BEFZ

MR R 56




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=27 (2025-04-25)

150 A

100 A

50

VI, VO{oRY, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1104
93

00 Warning: lcol [FVI',| "FVO’'] missing 40

150 A

100 A

50 -

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

- 1000

- 500

r0

FRV —— M_E f30

- 25

M_E

- 20

- 15

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

400

200 -

]
Bylnit @D30 06:22: ET=1210 Fg=1500.0 Ro=120.0
I

s & & o

p——& 4 4 4 —

Y~ " -~ Vs V- N — —

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

600

400

200 -

H'HEIE H§ H%E Hﬁ HHE H§ H%E Hﬁ HHE HEE E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES

ByEt @27 18:43: ET=1519 Fg=1416.0 Ro=nan !

L 4 4 o—&—

- 2000

- 1000

@
— P PN S e
3 4 5 6 7 8

1 2 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

600

400

200 -

]

E3 ES ES — — — ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 FTEREREA R i 5 G A B 5 G A B 5 B G B B B G

]
ByWoFv @D30 06:22: ET=1103 fg=1350.0 Ro=3.0

' SS

- 2000

- 1000

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8

0.6

0.4+

0.2~

abd /DR EDE i I I |
1
1_0_5_0_. —c Py PN \¥
i

E3 ES ES — — — ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 FTEREREA R i 5 G A B 5 G A B 5 B G B B B G

0.0

1500 P

| _obs
PPFD_obs

f'.. &0?\ ® VP

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



17

17.

17.

17.

17.

17.

19.

19.

19.

19.

19.

22 A

21 A

20 A

19

18

17

Ty

T T T
600 700 800

m=720,m FV0=0

T
500

1.0

0.8

0.6

0.4+

0.2+
Warning: col ['M_E'] missing

0.0 T

T T
0.4 0.6 0.8

m=510, FV0=0

0.2

.10 A

—o— MW

08 -

06 -

04 -

02 ~

00 -

5%5 550
m=780,n FV0=0

510

80 ~

- MW

75 -

70 -

65

60 -

780 785 790

m=510, FV0=0 m=600, FV0=0
1.0
20. 0 A
19.5 0.8 7
19.0 - 0.6
18. 5 1
0.4
18.0
17.5 1 0.2 A
o M_E Warning: col ['M_E'] missing
17.0 +
T T T 00 T T T T
510 515 520 0.0 0.2 0.4 0.6 0.8
m=780,m FV0=0 m=840, FV0=0
—o— ME —&— ME
21.5 1
22.0 A
21.0 A
21.5 1
20. 5 A
21.0 A
20. 0 A
20.5 A
T T T T T T
780 785 790 840 845 850
m=600,m FV0=0 m=660,m FV0=0
.0
18. 30
0.8 1 18. 28
0.6 1 18. 26
0.4 - 18. 24 4
0-2_ 1822_
Warning: col "MW 1] missing o
18. 20 - ]
0.0 T T T T T T T
0.0 0.2 0.4 0.6 0.8 .0 660 665 670
m=840, FV0=0 m
21. 20 A - MW
21.15
21.10 A
21.05
21.00 -
20. 95 A
20. 90 -
840 845 850

.0

21.5 4

21.0 -

20. 5 A

20.0 A

19.5 4

21 A

20

19

18

17

1.0

0.8

0.6

0.4

0.2

0.0

m=660, FV0=0

—0—

M_E

660

T
665 670

—— MW

L)

T
500

T T T
600 700 800

m=720,m FV0=0

Warning: col "MW ] missing

0.0

0.2 0.4 0.6 0.8

1.

0



hour

:35

100

80

- 60

- 40

20

1 1 1 1 1 1 1 _0
I R S
% N %‘”l |
S Q‘& & 3 ,\ﬁ&%@?f\ ’7&3&_ 3



P3-7

BrE) | GEBAK (3 | ERE (EH/R) (XS R

03:00 240 130.0 5| {’Ri1&@03:00 Fzh (KRAEHSE)
04:00 240 130.0 E|  {Ri1&@04:00 Fzh (KRE{EREE)
06:50 240 130.0 5| 1Ri&e06:50 Fz (KREAEHKS)
07:50 240 130.0 F  1BRi&e07:50 Fzh (GRAERERE)
08:50 240 130.0 5| {Ri%@08:50 F 3 (FAERSE)
09:50 240 130.0 5| 1RRi&e09:50 Fzh (REAEES)
11:00 240 130.0 E BRige11:00 Fz1 CGRAERESE)
12:05 240 130.0 5| {Ri%e12:05 Fh (RAERSE)
13:25 240 130.0 = RRiB013:25 Fz (RFAKEE)
14:35 240 130.0 E BRi&e14:35 Fz1 CGRAERESE)
16:00 240 130.0 El BRi&e16:00 Fzh GRAEREE)
23t 2640.0 (117%) 1430.0 3 3FKEC: 2080.0, PH: 6.5

EREBRTK (240) 5FuEA (200. 0) R, FIRER T % @EI#EIRS X XER

2RI\ PRIERE156.0 ml.
RE R i3k [B] RECEIB Hh ok

RER Bt HEREC/PHERRK, TTRESS

MR ELR R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=26 (2025-04-24)

100 A

50 A

V1, VO,'®RY, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

81

00 Warning: lcol [FVI',| "FVO’'] missing 40

200

150 A

100 A

[S3)
o
1

e T e e T e e e B e B e B e

T
—_
o
o
o

FRV (ml d-1)

- 500

0
4 30

- 25

M_E

- 20

15

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

600

400

2004 o - o @

1
Bylnit @D30 06:22: ET=1177 Fg=1300.0 Ro=154.0
1

oo —0o—©
e e e o

- 2000

- 1000

808— P PN P N NN I\r I\

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

600

400

200 p—a—0—0—0—0—0—

HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES
B B B 5] B B B 5] B B B 5] B B B 5] B B B 5] B B B 5]

ByEt @26 18:44: ET=1204 Fg=1196.0 Ro=nan !

—&—o o —©
S

- 2000

- 1000

808 P PN P oo .\\L

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

600

400

200 p—o—0—o—@

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
i 5 5 i H 5 H i H 5 G A B 5 G A B 5 G A B 5 G A

I
ByWoFv @D30 06:22: ET=1012 fg=1430.0 Ro=6. 0
I

8 & & o

- 2000

- 1000

1.0

0.8

0.6

0.4+

0.2~

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
B B H H H H H H 5 G A B 5 G A B 5 G A B 5 G A

0.0

1500
1000 -

500 A

40 -

20

—_—
[ ] | _obs
—@— PPFD obs

RH
[ ] RH_obs
RHo obs

b.v‘..‘. c .‘§ o VPD

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



22 A

21 A

20 A

19

18

17

16

—o— M_E

T T T T
600 700 800 900

m=720,m FV0=0

500

22.0

21.5 -

21.0

20.5 -

20.0

—o— ME

i
i

7é5 750
m=510,n FV0=0

16. 00

15. 98 ~

15. 96

15. 94

15. 92

15. 90 ~

—— MW

5%5 550
m=780,n FV0=0

18.5

18. 4

18. 3 A

18. 2

18.1 4

18.0

- MW

il
o

785 790

21

21

19 4

18 +

17 4

16

m=510, FV0=0

—&— M_E

5%5 5&0
m=780,n FV0=0

T
510

.91

.01

20.5 A

20. 0 -

19

.54

—o— M_E

7é5 7é0
m=600,n FV0=0

16. 60 -

16. 55 A

16. 50

16. 45 -

16. 40 -

19.

19.

19.

19.

19.

19.

19.

—o— MW

il

665 6%0
m=840,n FV0=0

600

1T —e— mw

840 845 850

21.

21.

20.

20.

19.

19.

18.

21.

21.

20.

20.

17. 30

17. 28 A

17. 26

17. 24 ~

17. 22

17. 20 ~

m=600, FV0=0

—e— ME

665 6%0
m=840,n FV0=0

600

—o— ME

8&5 8%0
m=660,n FV0=0

840

—— MW

660 665 670

m=660, FV0=0

22.0 A

21.5 A

21.0 -

20. 5 A

20.0 -

19.5 ~

17.

17.

17.

17.

17.

17.

17.

—0—

M_E

T
660

T
665 670

20 ~

19 4

18 1

17 +

16

—— MW

T
500

T
600

T T
700 800

m=720,m FV0=0

[{=]

90

85 -

80

75 A

70 -

65

60 -

—— MW

720

725 730



